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This test inchides 20 multiple-choice questions in each part. You only need to write dene the cozrect

angwer and need not give explanation. (Each question has only one correct answer and acoowmts for 5

poinis)

1. For 2 small open economy with perfect capital mability, which of the following policy can increase
a higheat income leval in the short run? (A) en increase in money supply in a fixed exchange rate
systetn (B) an increase in gavernment purchase in a floating exchange rate systern (C} a decrease
in imports in & Aoating exchange rate eystem (D) a daemease in income tax in a fixed exchange rate
system (E) none of the above,

2. Continuing with question 1, the event of the correct answer in question 1 can inerease the income
lewvel because it results in an inerease in (A) consumptian (B investment (C) gavernment purchase
{13} net expart (E) all of the zhave.

3. Continwing with question 1, which of the following policies will result ip an increase in money
supply in the end? (A} an increase in money supply in a fixed exchange rate system (B} an increase

- in governmenspTfEhbse in 3 foating sxchange rete gystem (C) a decrease in iaports in a floating
txchange rate system (D) a decrese in income tax in a fixed exchange rate system (E) none of the
above. )

4. Which of the following conditions may lead to speculative attacks in the foreign exchange market
except {A) adopting a fixed exchange rate (B) the domestic currency is overvalued (C) adopting a
contractionary menetary pelicy {0} The market equilibrium interest rate is very ow.

5. The introduction of individual retirement accounts in a closed economy raises the after-tax intarsst
rate on saving for retirement, The substitation effect nf this change {5 {A) an increase in saving,
which reinforces the income effect. {B) an increase m saving, but the income effact iz a reduction
in saving. () a reduction m saving, which reinforce the incame effect. (D) a reductioa in saving,
but the mcome cffect is an increass in saving. (E) an increase in saving, with no offsetting income
effect.

6. Which of the following staternents regarding the Solew growth model is act comrect if the initial
capital labor ratic is lower than the golden rule level? {A) an ncrease in the saving mate will
initiaily increase consumption. {R) an mcreass ia the saving rate will initially increase investmen!
{C) en incresse in the saving rate will initially increass the output. (D) None i incarrect,

7. Ifthe cconomy has a downwardly rigid wage and excess capacity, an increass in capacity shifis (A}
the aggragate supply curve Tighnvard, but has no effect an the price level (B) the aggregate supply
curve rightward, and lowers the price level (C) neither agaregate supply nor aggregate demand
with the result that the price level is unaffscted (D} the aggregate demand curve rightward, and
Taises the price level (E) the egprepate demand corve dghtward, hut has no effiect on the price
level,

8. When the ceniral bank increases the money supply, the imterest rate eventually increases withont
decreasing in the beginning. This situation indicates most likely that {A) the Liguidity prefevence
effectis dmmmd by the meome effect {B} the l:qmdlry preference effect s dominated by the ﬁ
expected-inflatio: cffect (C) the Tiqidity sfect s dominated by the prive-Tovel effect (D) tae 7 ':
expected-infiation effect appem vmy fast (E) Al are correct. % :

3 Whjchoflhefuilcwmgwmumlimsu]tmanmmc mtaalmoneydemand{ﬁ.}anmcmsem l
the price level (B} an increase in the nominal interest rale (€} an increase in the expected inflation
rate (I} e increase in the number of the ATM machines.

10. If the GDP and GNP of Taiwan is mitially the same, then which of the following event will reyult
in a larger ODP than GNP? (A) many professors who used to teach at the USA raburmed to Taiwan
(B) Many Taiwanese coropanies invest in the Maintand China (C) IBM increases its porchases
from the Taiwanese computet companies (D) Taiwanese banks lend capital o foreign companies

and earn interests from them (E) all of the above, 1
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Please answer the question from 11 to 15 with the following open macroeconomics model of floating exchange
rates; (* means the variables for foreign country)
C=c(QT)-ai+c*[Q-T]*
Tal-bi-dMPXKE
M -P) = v~ £
TB=ho(A -P'y)~b (A-P)+ h(B1 Fe-P)
i=j

1. What is the multipléer for govemment spending G? {A) (1 - by} 1-c}. (B} 1/(1-c(1-h )

() o 1-ef]-h 1) (D) {1k W L-c{1-h,)). (E) Wone is correct.
12.1f you derive the aggregate demand fumction, theo which is the correct specification for

the following coefficients? {A} The coeffidient for M P ¥Zis d/(1- ¢ (1-hy 1) {B) The

coefficicnt far i* is — (a+b)H{ 1< (3-h,)). {CY The coefficient for This {1-hy)4{1-c {1-h;)). (D) The cocflicient
for A*is hg (1-1,¥(1-c (1-h/)). (5} None is correcl.
13, if the apgregals Eui'pi}' fimelion is Qs =10, then the equi hbriu exchange rats can be

|

calenlated nqunw'if the central bank increascs the money sepply by one percentage

S

point, then what will happen 1o the equilibricm nemina! exchange rate * (A) It will - A

t z

fE S

increase by (hy-hyihy percentage pomt. {B) [t will increase by hy'h; percentage point. (C)
It will increase by {a+b)i(h; (1-h|)} percentage poine. (D) Tt will increase by onc

percentage paint. [B) Nome is comect.
14.If the eggregate supply function is Qs = (-!. now if the cenwral bank mcresses the money

supply by one percentage point, then what will happen to the equilibrium real exchange
mte? (A) i will stay the same. (H) 1i wil? decrease by hy'h, percentage point. (C) It will
decease by (a+h)i(h; (1-h,)) percentage point. (D) It will decrease by one pereenlage
point. (E) Mane is comrect.

15,If government inerease its spending by G, then what is the amount of crowdding cut
effect 7 {A) B (1-cW( by (1-hs)). (B) 66 /( p L-ba)- O T (14 1- h). (DY A(L-ho).
(E}G.

16.Which of the following siatement is comest in 2 two period equilibrium model which
includes both houssholds and business and besiness pay dividends to households? (A) If
a firm chocess to save more (pay less dividends to househeld), then the private saving
wiil increase, (B} If a firm chooses to save mote (pay less dividends to houschold), then
the private saving will decrease. {C) If a firm chooses o save more {pay lcss dividends to
household), then the personal saving will increase. (D) If a firm chooses to save more
fpay less dividends to household), then the persenal saving will decrease. (E) None is
correct.

17.Which of the following production furction is consistent with the Accelerator model of investnent?

K=h) (AQ=min(K.LLEBIQ=MK+lL. (CQ=0"+L"" (D}IQ=KT"
Please answer the question from 18 to 20 with a two period equilibrium mode! with government,

Assume that conmmers follow the permanent income hypothesia,

18. If the gavernment of a small cournry with capital mobility mersases its expenditure 1o the first
period and finances it with the same ameunt of lax increase, then i the first period (A} Its
domestic interest rate will increase. (B) Its national saving will stay the same. {C} Its current account
will stay the same. (D) Its current account will have deficit. (E) None of the statements is comrect.

{9.If the government of 4 stall country with capital contrel increages its expenditure in the first peried
and Finances it with the same amount of tax inoresse, then in the first pariod  (A) Tts domestic
interest rate will increase. {B) [ty nations) saving will stay the same. (C) Tts current account will sty
the same. {T¥) Tra current account will have deficit, {E) Noac of the statements is correct.

20.If the govesament of a large countr¥ with capital mebility inersases its expendirare in the secand
period and financees it with the same amount of tax inerease at the same period, then in the first
period (A Tts domestic interest rate will increase. (B} [is national saving will stay the same (C) s
current secount will stay the sane. (D) Its current accaunt will have deficil. (E) None of the

statements is correct.
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